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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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This question paper is divided into two Sections A and B.
‘Each question in Section A carries 15 marks and
each question in Section B carries 20 marks.
Attempt any one question from Section A and

' any three questions from Section B.

T® Y- ‘A e ‘W & mvel # fawfea ¥
e ‘A YEa® WA 15 3F # ¢ ol wue ‘s’ H
TE G 20 3% H ¥ |
e ‘A W TR E W HSS qd

gus ‘9’ ¥ wE @F W e

P.T.O.



( 2) 7371
Section A
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Explore the relationship between the ‘economic base’ and the *superstructure’ in Marx’s analysis
of social transition. Is this relationship unidirectional ? 15
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Distinguish between C-M-C and M_C-M' circuits. Why is the M—C—M' circuit more

susceptible to economic crisis ? 8+7
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Why do capitalists generally dislike and oppose any attempt made by the government to maintain .
full employment ? Do you think that this opposition will be much stiffer in capitalism dominated
by global finance ? Explain. 10+5
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Section B
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Do you agree with the view that the standard notion of the rise of capitalism, that capitalism

arose out of the internal contradictions of feudalism, misses out the essential features of the

actual genesis of capitalism ? Explain. 20
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Distinguish between “primitive accumulation™ and *“expanded reproduction” ? What role did

they play as ‘fixes’ for the capitalist crisis of the 1970s ? 6+14
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Discuss Schumpeter’s critique of neo-classical (Marshall-Wicksell) analysis of the capitalist
system. How does his concept of “creative destruction™ alter the understanding of capitalist

dynamics ? 10+10
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Explain the different sources of economic crisis. What role can the State play in preventing

such crisis ? 15+5
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“Capital calls the tune by which the state normally dances but takes for granted that the
state will provide the theatre within which the performance takes place.” (Robert Heilbroner)

Discuss. 20
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9. How would you explain an individual engaging in costly activity to benefit others ? Is reciprocal

altruism the only basis for such an action ? 20
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10.  Why do firms desire governmental regulation ? What are the limitations to the supply of such

regulation ? 20
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